


THE SOLUTION

1DE 6SHDNHV Rl '5HLG $UFKLWHFWYV
H[SODLQV WKH RWKHU FUXFLDO HOHPHQWYV
ZLWK WKH DUFKLWHFWXUH A:LWK VXFK

DQ HQYLURQPHQWDOO\ IRFXVVHG EULHI

ZH DOVR KDG WR ,RRN DW WKH VXSSO\

RI GULQNLQJ ZDWHU :H KDG UXOHG RXW
WUDGLWLRQDO ZDWHU FRROHUV EHFDXVH RI
WKH FDUERQ IRRWSULQW UHJXODU GHOLYHULHV
DVVRFLDWHG ZDVWDJH DQG FROOHFWLRQ
KHDGDFKHV EXW ZLWK NLWFKHQV RQ

HDFK RI WKH ARRUV ZH DOVR KDG WR
HYDOXDWH WKH LVVXHV ZLWK LQGLYLGXDOO\
IHG GULQNLQJ SRLQWV :LWK WKH %5,7$
9,95($8 /LQN/LQH QHWZRUNLQJ V\VWHP

ZH KDYH IRXQG D VROXWLRQ WKDW KHOSHG
XV RYHUFRPH DQ\ LVVXHV FUHDWHG E\

WKH XQXVXDO VKDSH RI WKH EXLOGLQJ :H
DUH QRZ XVLQJ  %5,7$ 9,95($8

9L7DSV DQG %5,7$% 9,95($8 %RWWOHUYV
WKURXJKRXW WKH EXLOGLQJ




